L Hopw tol & Ports FRevwews R

, 3 o
[, lLim 2x - 3% r 5%

9
X3 O x>- X o
D wxt-uwxekS -
X200 JIx2-| -
Z. imm Losx _ 0
T B
K> X~ E ©
I ,fS"hX -
x=>5 i = T
3. him In X - S
XS = i =0
hvn = _
X320 2k (n2 = @)

4. hm Fonx-3iax . 0= 0O
X=0

X*+anx O

hen  SeeEx— corx 0 _ A=

]
w=> O  2Zx+eax t XK ' orOo
o 20ER)Seex ey 4= SN X

oI =
%= O 2ittnx vix5Ccx T xSECx T X T 2L¢er)secxTanx - 0+0+0+Q
W imy  2sedx¥anx +SinX

X0 Ztonx +uxSec*x + 2%*s e xTwIx
fin dSeex Secxqenx - fenxy Z3ecéx - SeCEX FCOSX

x>0

25€cfX b+ Yo K + iy - 25X - SeexTuny T [dxsCCr+ le*ZSi’(‘XS*E(xi‘c\n):l Fanx T

2xtsec?x-sectx
TN ND A2 - 2.1
%0 "A+4r0+0t0 L*
5 Im xt ] - >
K2 xlyxrl S0
\ ‘—"i = -
Xma 2%ty O
x> er =
him A _
WSS exr - O



1. hm x2-9 *
X>3  x*-x-l
v 2 R

X=3 2x—-1 ~ 5

2
o

5 L x-S X _ Q-0

X0 % 0
(1 2 0o 200
X—=0 l ) |
9. 1l X=S§in(ix) _ D-0O
X0 Ten x 0
D j= 2C8(&x)  1=2
X0 se* N —
1O, hm x*+ex +§  _ Y-ig+y
X=> -2 X -2 %= 10 Hilp =10
Lo 2x +&  _ cHie | -2
K- 2 2%x=3 43 T 1
I Lo XFax-lp _ Hti-b
X=*2L  x-2 °
b 2% +]
X=> 4 \ = 2
i . . . 9907
12w ln(x' )j . o=
K> oo X ~
10000 =TT
Y-S 8D |
3
132 ’Y)(Siﬂx\) . Q
x>72 oz~ * “
‘ 3 Lz




‘ =l . )
M. 1m Y -t =2
C o
t* 1 int v
v ‘Lz_i—————ilzz'”z' = ‘1':4' = T2
T3 X i Z
15 fima In (CQJ(Z)&)) )
X0 Ix* 0
i1y “25vnex) O
X~ 9 Cosy X = 5
19 X
hon -2 Fen (2x)
X>0 4% |
b —dsecz(ax) o M | -2
X= 0O 4 B A |

b, 'm  Tenx=AX _ 0o-© _ 9
G

XF0 Sia)-2n 0 °

fivm Sectx=t A=l 2
X0 2cas(ix)- 2~ -2 T O

hve 25tex “seextenx O
X220 -y S\Y'\(‘QX) @)
L 25?2 x Fednx
X309 cuUsialix) ,
i Yseex -seexténx - tany + 15ectx-decIX . O+ L
X3 o “Fcoslex ) -3
Tt In0nx™) | s
X D inx =0
b 1900,
X %9 x
inx '99°
oo
-
hind 1999 -1

- X

X-‘)@’@ X xlnx.cou = O

=\

- L’i



€. lm fon X =X _ g-o. 2

-y «

X=>0 Sy 2 o ©
i :

(Ve ey — | B | =1 )

L s i ) 2. - -
K=o 24 X 0 >

L (ex2)™' -
x=>9 24yt
\\M =(leye)?* Cix)
X0 Ug x

: =¥ = 7% s
A ) L 2 i)

G HEX

v ‘”'&f\(’-)"‘ Fewx )2 Orrx2) ™3 2x ) et s O -4
x>0 Uy ~ - gy o2

9. { ¥ casx dx
u=e > fdv = Joasxd x
a5, .
ox © e V= SinX
tu= 2e*"dv
mz e swn dox
W= et fd\i jﬁs-\m\‘ Acx
QM—- 5L x - .y
dx = 1€ VE - CaX
du= 7e*dx
2K o A YA 4 x -
jé“cosy dx = €7 sinx 267 corx - Y [ e carxox
556“C@5’xdx = %Z” SSOx F 2¢ fcosx rC
j e¥cxxdxs g fezxs»nx t2€ 7 casx C]




20. ) x* costuxdx

W | dv
+ e—xbl\ cos (z=)
Lsin(ex)

T
+ Lt {H o)
= Lo % st
+1 24 N & Cas(2x)
- ]0° \~~§3 Sin(2x)

( 2 o T 3 2 .- -
2 X4 AL + XPeos@x) = 250 (1x ) = 3 Cos () + [ sin () + C

Jxrexadx
u=x? jdv"f@'xdx
Ay = Zx vz eX
du= 2xdx

rm‘xéx dx

xex - fe*dx
Xllex - Llxe¥X+lex t C
22, J 1 (3%) dix

E lr'(5") fd\/ﬁde

e T
;‘,!zdx
x In(2x) - Sk dx
x n(3x) = x + C

;-n

V= X

Q
e



23 § xsecixdx
U= X [ v Jsec?x dx
du = V- tanx
xtonx — § tonx dx
wFeany + 10 |cosx | + C

24, Jxe " dx
u=X }d\/ =) e dx
Au= dx v= T2f

Lyt +_2.»j B e 4X
Lye v Th e 0
25 J X siax dx
W= % de =Jf)“mxd’><
An=dx \ =- CO5X
- xCcosx 4+ §cosxdx
— xCasx +Sax +



